
Physics 112
March 31, 1999

Test 2

Name: ___________________________________________

Be sure to show your work clearly anddraw a box around your answer. Partial credit
may be given for work if it can be understood. All answers must have the correct units.
If any question is unclear,please ask immediately.

1. (20pts.) A spatially uniform magnetic field is pointing out of the page The field is
perpendicular to a circular loop of radius 0.2 m and resistance50Ω. At time t=0s, the
field is 3T. At time t=2s, the field is 1.6T.

a. (5 pts.) Whatis the direction of the induced current in the loop? Indicate it
clearly on the diagram.

b. (15 pts.) What is themagnitude of the induced current?
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